ial Functions

Stewart Caleulus ET e 0534393217;3. Differentiation Rules; 3.1 Devivatives of Folynomials and Exg

48. The slope of }¢l+2ex—3x is given by m=y =263
The slope of 3x—)=5=)=3x-51is 3 .
m=3= 29?{73:3 = 93-23:; x=In 3 . This occurs at the point (In 3, 7-3In 3)~ (1.1, 3.7) .

y=1+2¢"— 3x 6

-3 4

y=3x+7-6In3 1 Ty=3x-5

Stewart Caleulus ET Se 0534303217;3. Differentiation Rules; 3.2 The Product and Quotient Rules

32. We are glventhatf(fi) =4 ,9(3)=2 ., f (?) —6 ,and g (3) 5.
(a) (f+g (3) =f (2)+g (3)= 6+‘3Rl
(b) (fg) (3) =/B)g (*)*g(q)f (3) (H(5)+(2)(-6)=20-12=8

© (1) (3)- £ G /O (3)_@)0) )3 2 _s
: EOl) 2)
@
( ya ) 13y = LB/ GBI Gre G
S /(33T
_ (4-2)(=6)-4(-6-5) _ -12+44 q
(4-2)° 2’

40. (a) f(20)=10 , 000 means that when the price of the fabric is $20/ yard, 10, 000 yards will be
sold.

f ' (20)=-350 means that as the price of the fabric increases past $20/ yard, the amount of fabric
which will be sold is dec1ea5mg at a rate of 350 ValdS per (dollar per yard).

() R(p=pf(p)= R (P) of (p)+f(p) 1=R (20) 20f (20)+f(20) 1=20(-350)+10.000=3000.
This means that as the price of the fabric increases past $20/ yard, the total revenue is increasing at

$3000/($/yard). Note that the Product Rule indicates that we will lose $7000/($/yard) due to selling
less fabric, but that that loss is more than made up for by the additional revenue due to the increase in

price.

Stewart Caleulus ET 5e 033430321 7,3, Differentiation Rules; 3.3 Rates of Change in the Narural and Social Sciences

2 2
/ _ (x+cos x)(cos x)—-(1+sin x)(1-sin x) _ xcos x+cos x—(1-sin_x)

2 2
(x+cos x) (x+cos x)

2 2
_ xcos xtcos x—(cos x) _ xcosx

2 2
(x+cos x) (x+cos x)



